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QUESTION 1

Which three statements are true about SIP, per RFC 326? (Choose three.) 

A. SIP does not provide for resource reservation. 

B. SIP defines native methods for negotiating media streams. 

C. A SIP transaction occurs between a client and a server. 

D. To set up a voice session, SIP relies on protocols such as SDP and RTP. 

E. SIP signaling can only be used for voice over IP thereby limiting its use as a general signaling protocol. 

Correct Answer: CDE 

 

QUESTION 2

Your customer would like to allow call attempts only from User Agents(UAs) who have previously registered through the
Session Border Controller or who are configured as session agents. 

How would you accomplish this? 

A. Navigate to the sip-port configuration element and set the allow-anonymous parameter to agents-only. 

B. Navigate to the session-agent configuration element and set the allow-anonymous parameter to prevregistered. 

C. Navigate to the sip-port configuration element and set the allow-anonymous parameter to realm-prefix. 

D. Navigate to the sip-port configurationelement and set the allow-anonymous parameter to registered. 

E. Navigate to the session-agent configuration element and set the allow-anonymous parameter to 403forbidden. 

Correct Answer: D 

 

QUESTION 3

What should you do to enable physical interface redundancy? 

A. Navigate to the system-config configuration element and set the phy-redundancy parameter to enabled. 

B. Navigate to the network-interface configuration element and set thephy-redundancy parameter to enabled. 

C. Navigate to the network-interface configuration element and set the link-redundancy- state parameter to enabled. 

D. Navigate to the system-config configuration element and set the link-redundancy-state parameter toenabled. 

E. Run the superuser command enable phy-redundancy. 

Correct Answer: C 
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QUESTION 4

You configured theSession Agent Group (SAG) element. You want the Session Agent to be selected in the order in
which they are listed in the destination list, with each agent selected in turn, one per session. 

How would you accomplish this? 

A. Navigate to the session-agentconfiguration element and set the strategy parameter to sequential. 

B. Navigate to the session-agent configuration element and set the strategy parameter to propdist. 

C. Navigate to the session-agent configuration element and set the strategy parameter tohunt. 

D. Navigate to the session-agent configuration element and set the strategy parameter to roundrobin. 

E. Navigate to the session-agent configuration element and set the strategy parameter to leastbusy. 

Correct Answer: D 

 

QUESTION 5

You are logged in to the Session Border Controller a superuser. You want to remove other user from the system. 

How do you accomplish this? 

A. from the superuser mode, by executing the remove user command 

B. from the user mode, by executing the kill command 

C. from the superuser mode, by executing the remove user command 

D. from the superuser mode, by executing the kill command 

E. from the user mode, by executing the remove user command 

Correct Answer: C 
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